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6.3 Notes: Similar Figures Date:

Period:

e | can use proportions to identify similar polygons.
TARGETS ) o | can use similar polygons to solve problems.

Similar polygons are polygons that have the same shape but not necessarily the same size.

Similar Polygons

Corresponding angles are congruent.
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Q Corresponding sides are proportional.
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A similarity ratio, also called the scale factor is the ratio of the lengths of corresponding sides.
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- In the diagram above, for the similarity statement AABC~ADEF, the similarity ratio is: n’DtTF " 0E 3 '
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=>In the diagram above, for the similarity statement ADEF~AABC, the similarity ratio is: _ARRL ~ AL -~

Example 1:
Determine whether the polygons are similar. if so, write the scale factor (similarity ratio) and a
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Example 2: -

In the diagram, ABCD~ARST. Please solve for x.
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In the diagram, EFGH~JKLM F 2x+ 15 ]
1} Find the value of x. 7
X' ax&‘ls . X § f
EFGH  EF GH x4 ) b

! x _aXH.g - = E 18 K
MM C g WM & T 7 wxelex+d

axzia C

x| M

2) What is the scale factor of EFGH to JKLM?
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Perimeters of Similar Polygons Theorem
B AABC ~ ADEF
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If two polygons are similar, and their similarity ratio is =, ! - c
N A . . a
then the ratio of their perimeters is > AB _BC_CA_3
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perimeter of AABC _ 36 _ 3
perimeter of ADEF 1 1

Example 3: p 15 g
In the diagram, ABCD: FGHJ.
a) Find the scale factor of FGHJ to ABCD. ; 8
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b) Find the perimeter of FGHJ. D 10 H
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3) Inthe diagram, ABCDE : FGHIK.

a) Find the scale factor of FGHJK to ABCDE.
FGRIk  F6 15 3

The perimetty of ABCD 1S )

T AT ko A 10 B
b) Find the value of x. p.) G
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c) Find the perimeter of ABCDE.
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Example 4: P: ol

In the diagram, LMNOP: RSTUV. o p=2
a) Find the scale factor of RSTUV to LMNOP.
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b) Find the perimeter of RSTUV.
RSTUV . 5.:_)}. D UX:= 3\05*1‘\5
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c) Find the length of diagonal MO .
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Example 5: Applications!

a) You are flying a kite on a sunny day. The kite has side lengths shown in the figure below at the
left. The kite’s shadow has the side lengths shown in the figure below at the right.

Kite Shadow
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Is the shadow similar to the kite? Explain your reasoning.
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b) The community park has a rectangular swimming pool enclosed by a rectangular fence for
sunbathing. The shape of the pool is similar to the shape of the fence. The pool is 30 feet wide.
The fence is 50 feet wide and 100 feet long.
e What is the scale factor of the pool to the fence?
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e What is the length of the pool? 30 506+
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e Find the area reserved strictly for sunbathing.
100 f+

Area ot fence - Area of pool
= (50)(w00) — (306)(60)

The ared fov

= Hooo - 1500 funvothing
i 3,200

A = 3300



